@ Memory Geogger

|dentify the biomes labelled A and B in
the map below.

Outline 2 ways vegetation has adapted
to the tropical rainforest environment.

Explain why trees in the rainforest
have wide buttress roots.

Explain one sustainable method of
managing the tropical rainforest.

Hadley

—= lgb (invisible).

Match the statements below to the letters on the diagram to explain why deserts
have a hot, dry climate.

Cell Heavy equatorial rainfall occurs (like in the rainforest!)

As you would expect, temperatures at the equator are highest.
Warm air rises containing evaporated moisture.

ﬁ The cool, dry air then begins descending at the tropics. The air
' H warms up. Any remaining moisture in the air is held as water vapour

!
i - The air cools, condenses and forms clouds.
E
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